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1K

TTR77 \
Hi
Avd o =
Hi(GL-m) | Ho(GL+m)
DW 1 12.00 3.00
D(mm) Q(m3/min)
1 A B 100.00 1.00
2 B ® 150.00 2.00
3 C D 200.00 3.00
*
*
*
*
100mm  150mm  200mm  250mm  300mm
90°
Lv(m) Lh(m) Nsv Ncv Nb Nr Ng
1 14.00 10.00 1 1 1 1 0
2 0.00 10.00 0 0 0 1 1
3 3.00 10.00 0 0 3 0 1
*
*
*
*
17.00 30.00 1 1 4 2 2




D(mm) A(m2) Q(m3/min) | V(m/sec)
1 B 100.00 0.00785 1.00 2.12
2 C 150.00 0.01767 2.00 1.89
3 D 200.00 0.03142 3.00 1.59
*
*
*
*
*
*
*
A=m x (D= 1000 )2 + 4
V=(Q+ 60)+ A
Ha = Hi + Ho
Ha : (m
Hi : (GL-m)
Ho : (GL+m)
Ha = 12.00 + 3.00
= 15.00 m
HL1=fx (L+ D)x Vx V+ 2g
HL1 : (m
f -
f =(0.020 + 0.0005 + D) x 1.5
L (m)
D (m)
v (m/sec)
g (m/sec?) ( g=9.8m/sec2 )
D(mm) L(m) T V(m/sec) HL1(m)
1 B 100.00 24.00 0.0375 2.12 2.06
2 C 150.00 10.00 0.0350 1.89 0.43
3 D 200.00 13.00 0.0338 1.59 0.28
*
*
*
*
*
*
*
47.00 2.77




HL2 = Asv x Vx V=+ 29

HL2 (m)
A sV :
D(mm) A SV
100 0.14
150 0.12
200 0.10
250 0.09
300 0.07
V (m/sec)
g (m/sec2) ( g =9.8n/sec2 )
D(mm) V(m/sec) A SV Nsv HL2(m)
1 A B 100.00 2.12 0.14 1 0.03
2 B C 150.00 1.89 0.12 0 0.00
3 C D 200.00 1.59 0.10 0 0.00
*
*
*
*
*
*
*
0.03
HL3 =Acv x Vx V= 29
HL3 (m)
Acv :
D(mm) A cv
100 1.20
150 1.00
200 1.00
250 1.00
300 1.00
v (m/sec)
g (m/sec?) ( g=9.8m/sec2 )
D(mm) V(m/sec) A cv Ncv HL3(m)
1 A B 100.00 2.12 1.20 1 0.28
2 B C 150.00 1.89 1.00 0 0.00
3 C D 200.00 1.59 1.00 0 0.00
*
*
*
*
*
*
*

0.28




HL4 =Abx Vx V= 29
HL4 (m
Ab
A b=0.17
V (m/sec)
g (m/sec2) (g =9.8n/sec2 )
90
D(mm) V(m/sec) Ab Nb HL4(m)
1 A B 100.00 2.12 0.17 1 0.04
2 B C 150.00 1.89 0.17 0 0.00
3 C D 200.00 1.59 0.17 3 0.07
*
*
*
0.11
HL5 =Arx Vx V= 29
HL5 (m)
AT
D1/D2 AT
0.3 0.83
0.4 0.71
0.5 0.56
0.6 0.41
0.7 0.26
0.8 0.13
0.9 0.04
1.0 0.00
D1 : (mm)
D2 : (mm)
v (m/sec)
g (m/sec?) ( g=9.8m/sec2 )
D1/D2 V(m/sec) AT Nr HL4(m)
1 A B 0.7 2.12 0.26 1 0.06
2 B C 0.8 1.89 0.13 1 0.02
3 C D 1.0 1.59 0.00 0 0.00
*
*
*
*

0.08




HL6 = A gx Vx V=+ 29

HL6 : (m)
Ag
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1
V = 2.0m/sec 6 = 90°
02-0Q3 Ag=0.6 1.6
01-Q3 Ag=0.4 0.6
A g=2.0
V : (m/sec)
g : (m/sec2) ( g =9.8n/sec2 )
V(m/sec) AQ Ng HL6(m)
1 A B 2.12 2.00 0 0.00
2 B C 1.89 2.00 1 0.36
3 C D 1.59 2.00 1 0.26
*
*
*
*
0.62




HL7 =A o0 x Vx V=+ 29

HL7 (m

Ao

v : (m/sec)

g : (m/sec?) ( g=9.8m/sec2 )
HL7 = 1.0 x 1.59 x 1.59 + (2 x 9.8)

0.13 m

TH = Ha + HL1 + HL2 + HL3 + HL4 + HL5 + HL6 + HL7

TH : (m)

Ha : (m)

HL1 : (m)

HL2 : (m)

HL3 : (m)

HL4 : ° m

HLS : (m)

HL6 : m

HL7 : (m)
Ha m 15.
HL1 m 2.77
HL2 m 0.03
HL3 m 0.28
HL4 m 0.11
HL5 m 0.08
HL6 m 0.62
HL7 m 0.13
TH m 19.02




0 m3/min 1.00
TH m 19.02
60Hz
60.00
H
50.00 F
C
G
40.00
B
—~
£
- E
'_
30.00
D
0-00 1 1 1 1 1 1 1 1
0.00 0.50 1.00 1.50 2.00 2.50 3.00 3.50 4.00 4.50 5.00
Q (m3/min)
(@)
A 100mm | KTZ45.5 5.5KW
B 100mm | KTZ47.5 7.5KW
C 100mm | KTZ411 11.0KW
o D 150mm | KTZ67.5 7.5KW
E 150mm | KTZ611 11.0KW
F 150mm | LH615 15.0KW
G 150mm | LH619 19.0KW
H 150mm | LH622 22.0KW






